Common Circuits

Exercise 1: Draw the block diagram for the Verilog above. Coual = !/-L
: peviod -\
assign count_next coont -
= reset ? period-1 : - o(_\—
count ? count - : period-1 ; e

always_ff @(posedge clk) count = count_next ;
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always_ff @(posedge clk) timeout = timeout_nexti-;
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Exercise 2: Is the enable output a square wave? How could you
create a square wave? What would be the period?
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Exercise 3: How would the output differif enable _next was based
on count rather than count_next?
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Exercise 4: What is the duration of the sig_rising output?
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Exercise 5. How would you detect a falling edge? \
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Exercise 6: Draw the schematic of a synchronizer.
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Exercise 7: What is the bounce duration in the waveform above?
What value of N would achieve a delay of ten times this with a 50 MHz

clock?
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